Solve.

1. Dan's ice Cream comes in cartons of two sizes. The
large carton holds 4% pounds. The small carton holds
1% pounds less. How much ice cream does the small
carton hold? '

2. Mac picked seven baskets of blueberries. The weights
of the berries are given, in pounds, below. Find the

mean of the weights of the berries.
11 . 4. 6 11 13

2 Ak 4 1
4 10 . 20 5 5 1 20

3. Four cones of Dan’s Ice Cream hold -g— pound. How
much does each cone hold?

4. I a dish of ice cream holds -15 pound, how many
dishes can you get from a large carton of Dan’s
lce Cream?

" golve. Give your answer in simplest form.

Date.

Show your work.

ﬁ 5.%f%= 6.3+ 1=
; 7.5 +3= 8.2+6=
9.1+2= 0.3+ 5=
M.3+4= 12.2- &=
13--;’-,—-—;-=' 14.%x—$—=
15. 3% 5= 16.2— 2=

"
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Review Operations with Fractions 24_7_
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